| Phys102 (Sec#40)\ Quiz # 3 (Ch.18)
Name: -/(cy ID #

1- If 500 grams of water at 75° Chare-ddded to 50 grams of ice at -2° C. What
is the final temperature of the mixture?
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2- A cylindrical copper rod of length 2 m and cross section 5 cm” is
insulated to prevent heat loss through its surface. The ends are maintained at
a temperature difference of 100 by having one end in a water-ice mixture
and the other in boiling water and steam. How much ice is melted per hour
at the cold end? (thermal conductivity of copper = 400 W/(m.K); heat of
fusion of ice, = 333*10° J/kg )
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